Total Printad Pages : 23

Endﬂiﬂ

SUPERINTENDENT llﬂi]:'"”a
DOMR Sr. Mo. Booklet Sr. No.
Tima : 80 Minutes Total Queastions = 100 Max. Marks : 100
Roll No. {in Figure) [in Words)
(Signature of the Candidate) {Signature of the Invigilator)
IMPORTANT
NOT OPEN THE I Y T S0

FIRST READ FOLLOWING INSTRUCTIONS CARFFULLY,

1. The candidate will fill up required particulars including hisher roll no. and signature on the OMR
sheet with ball point pen (Black/Blue) in the appropriate boxes.

2. Ten minutes before the commencement of the test, question booklet and OMR sheet will be distributed
to the candidates.

3. Immediately on opening the question-booklet, the candidate should check the booklet & OMR sheet
and ensure himsclfherself that it contains 100 mubtiple choice questions (Sr. No. 1 1o 100). Driscropancy,
if any, should be reported by the candidate to the invigilator within 5 (five) minutes of the opening of
the question booklet and should ask the invigilator for replacement.

4. For each question, four suggested answers A, B, C, D are given. The candidate is to choose only
one answer which be/she considers the correct or the best one. If candidate darkens more than
one circle or cutting/overwriting/erasing (by crascr, white fluid or any other chemicals) then
such answer{s) shall not be evaluated,

5. The answers should be marked by darkening appropriate circle provided in front of the concerned
serial number on the OMR Sheet only with black/blue pen. Use of pencil is not allowed. For instance,
while answering the Question No.26 of the question booklet, the correct answer A or B or C or D at
serial No. 26 of OMR sheet should only be darkened.

6. The candidate should be careful in handling the questi and in darkening the answers on the
OMR Sheet. The second questio klet'OMR she | he supplied in case there is no
di ihe bookle sheet i plicd

7. Bringing of incriminating materinls/clectronic gadgets/devices including cell phone in the premises of
the examination centre is strictly prohibited. Possessing of incriminating materials electronic padpets’
devices and any other aiding material in the examination room will be a serious offence and it will
aftract the cancellation of the candidature.

§.  The candidate will not be permitted to leave the examination hall before the canclusion of the test. The
candidate should make sure that question-booklet including OMR sheet is handed over to the ifivigilator
before leaving the examination hall at the end of the test, fniling which, a case of use of unfair-means’
mishehavior will be registered against him/er, in addition to lodging of an FIR with the police. Further,
OMR sheet of such a candidate will ot be evalusted,

9. The candidate can do rough-work on the back of the title cover of question booklet, Rough-work on
OMR sheet is prohibited.

10. Mebile Phones are not af all allowed inside the Examination Hail,

11, Itis for the information that entire examination shall be recorded by video camera and inpersonation
shall lead to disqualification and registration of Police Case.

12, Caleulator is not allowed.

SEAL



L]
DOMAIN KNOWLEDGE

Management as a discipline is the function of
{A) Sclence (B) An
(C) Creativity (D) Al of these

Who isfare the person(s) you have 1o give imporiance under the institution’s
checklist before making call to the consultant ?

{A) Managers (B} Emplovees
() Customer (D) All of these

The objectives of pood governance are :
(A) Growth

(B) Stability

(C) Sharcholders value maximization
(D} All of the above

The actual schievements ¢comparcd with the objectives of the job is :
{A) Job performance (B) Job evaluation
(C) Job description (D) None of these

The following is (are) concemed with developing a pool of candidates in line with
the human resources plan :

(A) Development (B) Traiming

(C) Recruitment (D) All of these

In an organization initiating career planning, the career path model would essentially
form the basis for :

(A) Placement (B) Transfer
{C) Rotation (D) All of these
1 P.T.O.
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Which Section of the Industrial Disputes Act, 1947, states that an employer should
retrench only such employees who have been recently hired 7
(A) 24-F (By 24-G

(€) 25-F (D) 25-G

Majority of the disputes of the employees with the management relate 10 the

problem of
(Al Wages (B) Salaries
{C) Benefits (Dy  All of these

Performance development plan is set for the emplovee by his :
(A) Employer (B} Department Head
(C) lmmediate boss (D) Al of these

The following type of recruitment process is said to be a costly affair ;
(A) Internal recruitment (B) External recruitment

(C) Contractual recruitment (D) Recruitment by deputation

The word denotes a function, a task, a discipline,
(A) Management (B) Leadership
{C) Motivation (D) None of these

The following is (are) the objective(s) of inspection : -
(A) Quality product ;: (B) Defect free products
(C) Customer sstisfaction (D) All of these

2
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13, Which pProgramme

once installed must be continged 0N & permanent basis ?
(A) Job evaluation (3) Training and Des clopmeni
() Recruitmen;

(D) All of these

$ Bvery worker i3 1o he Compensated
with — Bverage pay for wvery completed vear of sérvice,

|

' (A) 15 days (B) 20 days

! (€) 25 days (D) 30 days

l

I 15. Which of the tfollowing are three importan; components in aligning business
stralegy with HR practice ?
(A)

I6. The hasic managerial skill(s) is(are);
(A) To supervise (B} To stimulae
(C) To motivate (D) All of these
17. The “Report an Currency and Finance™ for each of the financia Year in India is
published by -

(A) Reserve Bank of India _ (B)  Ministry of Finance
(C) Planning Commission (D} Centraf Statistical Organization
M-2 3 P.T.D.
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20.

21.

M-2

In India, & political party is recognized as a National or Regional Party by the |
iA) President of India

(B) Election Commission of India

{C} Law ministry in consultation with the Law Commission of India

(D) Union Parliament in consultation with the State Legislatures

The launch of satellite channel by IGNOU on 26th January, 2003 for technological

education for the growth and development of distance cducation s |
(A) Eklavya channel (B} Gyandarshan channel
(C) Rajrishi channel (D) Nonc of these

Haryana Civil Services (Government Employecs C{rm:[ucl].i_lules* 2016 came into
force on :

(A) 1st January, 200 (B) 21st January, 2016
(C) 19th July, 2016 (D) Ist August, 2017

Which of the following isfare correct 7
(A} Gewt. servant who may be convicted in a criminal court to inform his offi-
cial superiors of the fact of his conviction and the circumstances

(B) Failure on the part of any Govt. servant so 1o inform his official SUperion
will render him liable to disciplinary action on this ground alone

(C) Gowt. servant who is arrested for any reason, may intimate the fmct of his
arrest and the circumstances connected therewith to his official superior
promptly even Ilmug‘h he might have subsequently been released on bail,

(D) All of the above
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22, Which of the following acts, conduct and commissions of a Government servant
amount to misconduct 7
(A} If the act or conduct is prejudicial or likely to be prejudicial 1o the interests
of the master or 1o the reputation of the master

(B} If the act or conduct is inconsistent or incompatible with the due or peace-

ful discharge of his duty 1o his master
(C) If the act or conduect of a servanl makes it unsafe for the employer to retain
him in service

(D) All of the above

23.  Which of the following omissions of & Government servant amount to misconduet 7

(A) Willful insubordination or disobedience, whether alone or in combination with
others, to any lawful and reasonable order of a superior

(B) Habitual absence without permission and overstaying leave
(C) Conviction by a criminal court
(D) All of the above

24. Procedure for disposal of unserviceable/surplus stores in the Haryana Government
Depariment is provided in :
{(A) CSR Vol. I, Part | (B) CBR Vol Il
(C) PFR Vol. 1 (D) PFR Vol. 1I

25. Which of the following is‘are considered as “Strike” by the employees 7
(A} Mass abstention from work without permission
(B) Refusal to work overtime where such overtime work is necessary in the
public interest
{C} Resort to practices or conduct which is likely to result im-or results in the
cessation or substantial retardation of work in any organization. What are
called go-slow, sit-down, pen-down, stay-in et
(D) All of the above
-2 & P.T.O.
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27.

. M-2

Criticism of Govt. means and includes :

(A} Which has the effect of an adverse criticism of any currenl or recent policy
or sction of the Central Government or a State Government,

(B} Which is capable of embarrassing the relations between the Central Gowvi
and the Government of any State.

(") Which is Eﬂ.pﬂhll: of embamassing the relations between the central govern-

ment and the Government of any foreign state.

(D) All of the above

The bids for procurement opportunities shall be submitied in a'an package
or packages.
{A) open (B} secaled

(C) transparent {D) none of these

§ *

Where the procuring agency require the bidders to furnish a bid security, the bid

security should not exceed of the bid price.
(A) 3.0% (B) 7.5%
(€) 10.0% (D} 12.5%

All bids shall be opened :
(A) randomly (B} privately
(C) secretly (D) publicly

The main open competitive bidding procedure is :
(A) single stage one envelope bidding

(B} single stage two envelope procedure

(C) two stage biddihg procedure

(D) two stage two envelope bidding procedure

6
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The global key professional accounting body is
{A) The Financial Accounting Standards Board

(B} The Institute of Chartered Accountants of India
(C) The International Accounting Standards Board

(D) The Imternational Accounting Standards Committee

The original cost at which an asset or liability is acquired is known as :
(A) historical cost (B) camying cost

(C)} amortization (D) replacement cost

The Internationnl Accounting Standards Commitiee was set up in :
(A) 1967 (B) 1973

(C) 1982 (D 2009

Accounting Regulation Body in India is governed by the :
(A} Institute of Charlered Accountants of India

(B) Company Law Board

(C) Income Tax Department

(0} Reserve Bank of India

Universitics Accounts Code came into force in Haryana Stale Universities with

effect from :
(A) Ist January, 2019 * (B) Ist Apnl, 2010
{C) Tst April, 2011 (D) st Angust, 2011

7 P10,
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40.

Statement of estimated receipt and expenditure of an mstitution for any financial

}'E‘ﬂ.l' IMEENS ©
{A) Detailed Estimute (B) Balance Sheet

{C) Budget (D) Revised Estimate

Reappropriation means |

{A) Allotment of funds for a specified object.

(B) Transfer of funds from one unit to another to meet specified expenditure
{C) Probahle expenditure under the various heads

(D) Expenditure incurred at periodic intervals

As pe:r provisions of the Accounts Code, temporary advance is reguired to be
adjusted within :
(A) 15 days (B) One month

{C) Two months (D) Six months

“Who has been appointed as the new chairman of Central Board of Indirect taxes

and Customs (CBIC) ?
{A) Johmjoseph (B) VanajaN.Sama
(C)} Mahender Singh (D) 8. Ramesh

Who is the Chairman of University Grants Commission 7

(A) Prof. Ved Prakash (B) Prof. D. P. Singh
(C) Prof. Sukhadeo Thorat (D) Prof. Arun 5. Nigavekar
8
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GENERAL ENGLISH

I 41.  Choose the one which best expresses the meaning of the given word
ERRAND
(A} Energy (B) Task
(C) Mistake (D) Blunder

42.  Sudhir and Suhana arrived (a) / at the bus stand soon (by/ but waited wntil
noon for the bus. {c) / No error (d)

(A) {a) (B) (b}
(C) () (D) (d)

43. Choose the right meaning of the following idiom and phrase
1 Eke oui 1

(A) tired off

(B) out of the game

{(C) no more

(D) supplement income

44. Fill in the blank with suitable article
! Annu prefers self-employment to job in any office.

(A) an (B) =
(C) the () no article

45. Choose the correctly spelt word from the words given below

{A) Averisious (B) Avericious

(C) Avaricious ()  Avarisious

M-2 9 P.T.O.




46, Directions : In question given below, the first and the lsst sentences are numbered
| and 6. Remaining semtences are nomed PQ, R and 8§ These four sentences are
not given in their proper order. Read the sentences and find out which of the four

combinations is correct :

1. For many scientists oceans are the cradle of Jife.

P But all over the world chemical products and nuclear waste continue to be
dumped into them.

Q.  Coral reefs, which are known to be the most beautiful places of the submarine
world are fast disappearing.

R The result is that many species of fish die because of this pollution,

8. Of course man is the root cause behind these problems,

6. Man has long since ruined the places he visits -, continents and oceans alike,

(A) PRQS (B) QPRS

(C) POSR (D) QRPS

47, Sclect the most cffective word from the given options to fill in the blank and
complete the sentence meaningfully
Raju failed in the examination because none of his answers were . tlothe
questions asked.

(A) Allusive (B) Revealing
(C) Pertinent (D) Referential

48. Choose the one which is most opposite in meaning to the given word :

Spurious
(A) Genuine i (B) Vast
(C) Open (D) Mixed

M-2 10



4%, Find the adjective of 1 Explosion

{A) explorer (B) exploration
(€} explosive (D) explorative

S0, We're good friends. We  cach other for a long time,
(A) have known (B} have been knowing
{C) know (I})  knew

Direction (Nos, 51-55) : Read the passape carefully and choose the best answer 1o
each question out of the alternatives,

The DRDO was set up in 1958 as the fulerum of India’s indigenous defence production,
However, its performance, or the lack of it, must count ss one of the bipgest
uninvestigated scandals of independent India. Among its notable failures is the production
of the Light Combat Aircrsft (LCA), which was commissioned over a decade ago but
ran years behind schedule with a cost overrun of over R, 20 erore. The aircraft’s
Kaveri engine was commissioned over two decades ago; it ran over 15 years behind
schedule with similarly high cost overruns. Other projects allocated to the DRDO, such
as the Airbome Early Waming and Contral (AEW&C) System, the naval version of the
LCA, the Long Range Surface to Air Missile (LRSAM), and the Advanced Lightweighi
Torpedo (ALWT) have all missed deadlines by several years.

The performance of our public sector units handling defence has been equally scandalous,
Hindustan Aeronautics Lid. (HAL) could not rectify simple design faults in the HPT
32 basic trainer aircraft, forcing the Indian Air Force {IAF) to import propeller driven
rainers. The Intermediate Jet Trainer (IIT) prototype is nowhere clase to flving, and the
Light Combat Helicopter and the multipurpose civilian aircraft, Saras, have forever
been in the pipeline, Our ordnance factories are similarly languishing. The Nalanda
ordnunce factory, in collgboration with an lsracli company, 15 reportedly only a fourth
M-2 11 Y0,



-
complete. The commitment to indigenously supply 1,000 T-905 main battle wnks 1o the

Indian Army could not be met because the project failed Indian-made 125 mm smooth
hore barrels for the T-72 tanks also reportedly failed because the barrels blew up during
field trials.

51. According to the passage why the author referred DRDO as independent India's
uninvestigated scandals?

(A) due to non-adherence to time which resulted in over-costing to the Govl,
(B) due to one of the employee who got arrested in scandal.

{C) due to excess cost demand by the employee.

(DY All of the above

52. Which of the following acronyms is mof used in the above passage 7
(AY ALWT B) Ml
(C) LCA (D) DRDO

§3. Which of the following is mor the synonyms of the word "fulerum” ?
(A) base (B) foundation
(C) inscribe (D) None of these

54. Which of the PSU's have failed to complete their commitments 7
{A) HAL (B} Ordnance factory
{C) DRDO (D} All of these

§5. Which of the following does the phrase " blew up " _mean ?
{A) Failed (B} Trailed
(C) Blocked (D) Achieved

M-2 12




Directions ((). Nes. $6-60) - In the following passage,

some of the woeds Ssve becn left out Read the passage carefully and choose the
correct answer %0 esch guestion ool of the four alternatives and GIl in the blanks
Not a year pesses withouwt & controversy ...(56)... over the national sports awards, The
debate that smses every vear following the announcement of the Khel Ratna, Arjuns and
Dronacharya swands often leads to accusations of bias, regionalism and ,..(57)... .
Representations to the Sports Minister, interventions by Chief Ministers, Union Ministers
and politicians have all .. (%8)... part of the game, though the rules stipulate that any
form of “canvassing”™ could fead 1o disqualification of an ...(59)... . In practice, no
such disqualification tskes place and aspiring candidates readily plead their cases with
the Sports Minister even afier the recommendations of the awards panel become public
...(60).

56. (A) harming (B) developing:
(C) surrounding (I3} erupting

57. (A) honesty (B) complexity
(C) emcourage (D)  manipulation

58. (A) become (B) crossed
(C) affected (D) lasted

59. (A) award (B) game
(C) entry (D) theory

60. (A) choice (B) Fury i
(C) Propeny . (D)  Knowledge

M-2 13 P.T.0.
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GENERAL APTITUDE

Complete the series : 1008, 2340, 3341, 4071, 7, 79278
(A) T160
(B) 7584
(C) 6652

(D) 6952

In the following question, choose the correct code form :
In a code language MOBILE is writlen as ASDFGH, STORK is writlen as

PLSQW. How is MOTORBIKE written in that code 7
(A) ASLSQODFWH
(B) ASLSQDHWH
(C) ASLSGHQDW

(D) ASLSASFWH

Madhuri travels 14 km Westwards and then truns left and travels 6 km and further

tumns left and travels 26 km. How far is Madhuri now from the starting point 7
(A} V180 km
(B) V80 km
(C) Y100 km

(D) Mone of these

14
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Direction : Smdy the following bar chart and table char carcfully and =ewer e
question given below,
The following bar graph shows the amount of maoney allocated (in lakh) 10 2 builders
by six different state governments for various governmeni projects such #s House

building, Road development, Bridge development and Metro projects,

B Builder A = BuilderB
20

18

16

14 -

| L I
+®
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L= - - -
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The table shows the spending of each builder in various development aspects every

VEEr
Project | Builder A Builder B

House 15% 35%

Roads 15% 20%

Bridge 20% 30%

i Metro 3024 13%

M-2 15 P.T.O.
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67.

M-2

If Builder A saves 15% of the fmoumt allocated for House development in the
state Delhi and deposited thai amount in a scheme which offers 12% simple
interest per annum, then find that builder A will receive what amount as interest

from the scheme at the end of 4 years from the investment.
(A) Rs. 19620 (B) Rs. [26%0)

{C) Rs. 12960 (D) Ras. 16920

Heart ; Pericardium :: Brain : 7
{A) Bones (B} Head

(C) Skull (D) Craninm

Cheenu has a family of ight members. Bablu is the ¢ldest male member of the
family. Haryali is the daughter-in-law of Neelu and sister-in-law of Sonu and
Anku. Apart from Cheenu and Bably, only Sdnu is a male member of the family.
Anku is the aunt of Cheenu's two daughters Saba and Daya. Find the relation
between Haryali and Saba :

(A) Mother-Daughter

(B) Father-Son

(C) Sisters

(D) Granddaughter-Grandmother

In & row of forty children, P is thirteenth from the left end and € is ninth from
the right end. How many children are there between P and R if R is fourth to the

left of Q 7 -
(A) 12 (B) 13
(C) 14 (D) 15

16
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estion, & Stement is given followed by some conclusions,

iy

the conclusion which logically follows

illage has two wives. No one else in the village has

/e

@ o

17
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M-2

Two positions of a dice are shown below, When number | 13 on the top, what

number will be at the: bottom 7

(11}
(A) 2 (B) 3
(C) 5 (I None ol these

A man's age 15 125% of what it was 10 vears ago, bul Eﬁ%"r’i of what it will be
after 10 years. What is his present age ?

(A} 70 (B) 60

(C) 50 (D) 40

The captain of a cricket team of |1 members is 26 vears old and the wicket-
keeper is 1 vears older. If the ages of these two are excluded, the average age of
the remaining players is one year less than the average age of the whole team.

Find out the avernge age of the team.

(A) 23 years
(B) 20 years

(C) 24 yeors

(D} 21 years

18
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M-2

What day of the week will 22 April 2222 be ?
(A} Monday (B} Tuesday

(C) Thursday (D) Sunday

Al what time between 7 and 8 O'clock will the hands of a clock be n the same
strmight line but noi fogether?

(A) 5 min past 7 (B) 5ﬁ min past 7

i
() Sﬁ min past 7 (D) 35— min pant 7

The product of two 2 digit numbers is 2028 and their HCF is 13, What are the

pumbers 7
(A) 26, 78 (B) 39, 52
(C) 13, 156 (D) 36, 68

Pirections : Study the following digit-letter-symbol sequence carefully and answer

the question given below :
R*TIL2SD=-MéBC%UB<KI&EAW?IPE+Q@TF
If the above sequence is written in reverse order then which of the following will

be sixth to the right of sixteenth element from the right end ?
(A) M . (B) A
() B () 7

19 P.T.O.
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81.

M-2

The cost price of 20 articles is the same as the selling price of x articles. If the

prafit is 25%, find the value of x.
(A} 13 (B) 25

(C) 18 (D) 16

Mr, Thomas invested an amount of Rs. 13,900 divided in two different schemes
A gnd B at the simple interest rate of 14% p.o and 11% p.a. respectively. If the
total amount of simple interest earmed in 2 years be Rs. 3,508, what was the
amount invested in Scheme B 7

(A) Rs. 6,400 (B} Rs. 7,200

(C) Rs. 6,500 (D) Rs, 7,500

A person crosses a 600 meter long street in 5 minutes. What is his speed in km

per hour 7
(A) 8.2 (B) 42
(C) 6.1 M 7.2
The value of :
1 1 1 1
I+J‘E+:"'f+d§+-.u'r3+d'3+‘ """ TG +e
(A) O (B) 3
(C) -3 o 1

Which parj of the computer helps to store information”
(A) Disk Drive (B) Keyboard

(C) Monitor (D) Printer
20
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92.

93,

The best indicator of economic development of anyv countrv iy
{A) Is agriculture (B) lis transpon

(C) Iis gross production (D) Is per capita income

Whe gives the final approval o the five year plans of India?
(A} National Development Coundcil (NI}

(B) Ministry of Finance

(L) Planning Commission (Now NITI Aayog)

(13} Presidem of India

World Hindi Day falls on :
(A) January 10 (B) February I8
(C) Febroary 25 (D) March 03

National Youth Day is celebrated on :
(A) January 09 (B) January 12
{C) January 25 (D) Janwary 30

Who is the founder of Haryanka Dynasty ?
(A) Ajatsatra (B) Harsvardhan
(C) Bimbisara (D) Gowanand

Mahatma Gondhi launched Kheda Satyagrah on Gujrat in 1918 to support the

cause of :
(A) Mill Owners (B) Landlords
(C) The peasants (D) Kol Rebellion

Who amorg the following was the president of the Constituent Assembly 7

(A) Dr. Rajendra Prasad (B} Dr. BR. Ambedkar
(C) Lal Bahadur Shastri (D) P. Upendra
22



94. What is the date of adoption of the Constitution ?
{A) 26th November, 1949 {B) 26th January, 1950

(C) 15th August, 1947 (D) 30th January, 1960

95. Headquarters of Oil and Natural Gas Corporation (ONG(C)

{A) Delhi (B) Dehradun

—Te——"%

(C) Mumbai (D) Chennai

9. Where is the Headquarters of ASEAN {Association of Southeast Asian MNations) 7

(A) Beijing (B) New Delhi L1
(C) New York (D) Jakarts et
est
97. Who is the guthor of the book "My Experiments with Truth" ? ﬁ
(A) Mahatma Gandhi (B) Michael Anderson oy
(C) Winston Churchill (D) James Morris t
98. Panchkula District was formed in which year 7
3
(A) 1985 (B) 1995
the
(C) 1996, (D) 1999
of
99. Who wrote the famous book "We the people’ ?
will
(A) T.N. Kaul (B) IR.D. Tata —
(C) Khushwant Singh (D) Nani Palkhivala
100. Which of the following is nor written by Munshi Premchand ?
L] pﬂ
{A) Gaban (B) Godan
(C) Guide (D) Manasarovar naticn
-2 23 T
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